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(RP)MotX = 2e/g7| 05/ 24 2.90 2.90 2.90
(RP)AIEHK H28/8 7|0 5/34 34 2.80 2.80 2.80
(RP)ZH2t X = 22/g7|015 /670 & (A 3.50 3.50 3.55
(RP)SHRI X H28/8 7|0 5/14 14 3.50 3.50 3.55
(IRP)3I3L X = 2.8 /5 7|0 2 /2 24 2.50 2.50 2.55
(RP)SHRI X H 238/ 7|0 5/3E 34 2.00 2.00 2.05
(IRP)DBX Z28/87|05/1d 14 3.60 3.50 3.50
(RPUTEION XM Z28/8 7|0 2/1d 14 3.85 3.70 3.70
(RPUTEION X =28/87| 0l F/2H 24 335 3.20 3.20
(IRPUTEION X Z28/8 7|0l 2/3¢ 34 3.05 2.90 2.90
(RP)ZOFX = 2e/g7|05/1d 14 3.00 3.70 3.60
(IRP)ZOLX =28 /77| 0f 3/2d 24 2.50 3.00 2.90
(IRP)ZOHX = 28/7|05/3d 3d 2.50 3.00 2.90




(RPUHKMZ2A/F7|053/1d 14 3.75 3.75 3.80
(RP)OHF2XH2¥/H7(03/371E 30 2.20 2.20 2.20
(RP)OHFR2X =2/ Y7I03/67HE 671 2.60 2.60 2.60

(RP)OHF2XMZ=2¥/H7|05/1d 14 3.75 3.80 3.75
(RP)OHF RN H28/F7|0 /2 2d 3.55 3.25 3.25
(IRPYO 72X =28/47|05/39 3d 3.40 3.10 3.10

(RP XM Z2/F7|05/1d 14 3.60 3.71 3.70

(RP XN =28/57015/24d 24 3.00 3.00 3.00

(RP) B X =22/87|015/3d 34 2.70 2.70 2.70

(IRP)O 7} 2K =28/ 7|0 5/19 14 3.70 3.60 3.80
(RP)IZIHA N Z28/87| 0 /2 2d 3.10 3.00 3.20
(IRP)O| 7} 2K = 28/ 7|0l 5/3 9 3d 2.80 2.70 2.90
(RPADIEXZ2¥/Y7|013/37E EUE 2.00 2.00 2.00
(RP)ADIEXZ28/47|0l5/67H & 67 3.20 3.20 3.20
(RPADIEX Z23/F7|0 /1 14 3.75 3.77 3.85
(RP)ADIEXZ28/47|0]5/21d 24 3.20 3.20 3.20
(RPADIEX Z23/87|0 /34 34 3.20 3.20 3.20
(RP)D|2HO NS /22| S 2 ZELB/3HE 3he 3.65 3.50 3.49
(IRP)O|2HOI M B3/ RlelZ 2 FELB/1E 14 3.65 3.50 349
(RP)D|HO NS /22| S 2 FELB/2H 24 3.57 3.42 3.34
(RP)D| 2O NS /2| 5 2 FELB/3H 3d 3.58 343 335
(RPNHEXS /A2 S 2 HELB/3HE 3hg 3.64 3.50 343
(RPNHEXS#/2 2| S 2 2ELB/1E 1d 3.64 3.50 343
(RPNHEAHS /)23 2 FELB/2E 24 3.54 3.40 3.35
(RPNHEXS#/2 2| S 2 2ELB/3E 3d 3.54 3.40 335
(RP)MBHERI S /22| S 2 ZELB/3HE 3he 3.66 3.51 3.50
(RP)MBHEXIS M/ Rlel g 2 FELB/1 Y 14 3.66 351 3.50
(RPAIBHE RIS @/ 2| 2 2 FELB/2E 24 3.58 343 3.34
(RP) MBS XIS M/ 2| 5 2 FELB/3H 3d 3.58 343 335

(IRPKBZ #/#l2| 5 2 FELB/37 E 3hg 3.64 3.50 3.48

(IRP)KBZ /2|3 2 &ELB/1E 14 3.64 3.50 348

(IRPKBZ #/d2| 2 2 &ELB/2E 24 3.54 341 335

(IRPKBZ #/8l2| 3 2 ZELB/3d 34 3.55 3.41 3.35
(RP)FCHAIS M/l S 2 EELB/1Y 14 3.66 351 3.50
(RP)HCHAI S @/ 22| S 2 HELB/2Y 24 4.00 3.80 3.80
(RP)CHAI S #/2| 2 2 EELB/3HE 3hg 370 3.55 3.50

(RP)CHAI S #/2| 2 2 & ELB/1E 1d 3.70 3.55 3.50
(RP)CHAI S H/ 2| 2 2 EELB/187HE 18748 4.00 3.80 3.80

(RP)CHAI S #/ 2| 2 2 & ELB/2E 24 4.00 3.80 3.80

(RP)CHAI S #/J 2| 2 2 FELB/3E 34 4.00 3.80 3.80
(IRP)SILIS #/2l2| 3 2 ZELB/37H Y EYE] 3.66 351 3.50

(RP)SHLIS #/2| 2 2 FELB/1d 14 3.66 351 3.50

(RP)SHLIS #/ 2| 2 2 & ELB/2 24 3.58 343 335

(RP)SHLIS #/2| 3 2 FELB/3E 34 358 343 335
(RPIMESH/AE 22 TELB/3HE EYE] 3.64 3.50 348

(RPMES A/l 22 TEB/1d 14 3.64 3.50 348

(RPIMESH/E 2 2 TELB2E 24 3.54 342 335

(RP)MES A/l 2 2 TELB/3E 34 355 342 335
(IRP)DBZ 8 EAL/ 22| S EEELB/1H 14 3.81 3.62 3.54
(RP)DBE 8 FAl/RE| 32 HELB/2E 2d 3.71 347 3.44
(RP)DBE A/ 2 FEYELB/3H 3d 3.66 3.47 -
(IRPDBE &5 Al/#l2| 52 YDLB/1H 14 3.81 3.62 3.54
(IRP)DBE &FAl/IE| 5 2FDLB/2E 24 371 3.47 3.44
(IRPDBE &5 Al/#l2| 5 2 YDLB/3H 34 3.66 347 -




(RP)7| 253/l S EHELB/AMNE S
S CEEEE £l 375
(RP)OTO[ 1% /22 S 2 AELE/1 14 375 355
(RP)OFOI A= 2/92 2 5 X EL6/2 9 1 380 355 352
(RP)OFOIAZ /A2 2 2 BELe/35 24 370 370 3.52
(RP)mE S/ S FELB/1H 34 3.70 3.60 340
(RP) =5 F,/98 3 R HELe/2 14 370 360 325
(RPAE= 2,22 252 E8/34 24 360 355 3.25
(RP)ZESH/A2| 3 EDLE/ 1 £l 3.60 335 353
(RPZEZ 2,22 25 5DLB/2H 14 370 335 328
(RP)ZZE/23 32 HDL8/3H 24 360 355 320
(RPBNKEXIZ /292 2 2 2ELB/31 ;L; 360 335 353
(RP)BNKEAIS /212l 3 2 HELB/6 TN E 12 370 335 328
(RPBNKEXI = 2/22) 225 DLB3 6;"131 370 350 3.20
(RP)BNKEX5H/2l2| 32 EDLB/67H Y 37H:E 3.70 3.50 365
(RP)BNKE X Z#/ 22| 3 2 &ELB/1H ona 3.70 3.50 365
(\RP)BNK-‘.%K}%-H/%agEQDLBA; 1d 370 350 3.65
(RPBNKEATS 2/2 2 3 2 JeL6/28 14 370 350 o
(RPBNKE A5 7/ 1213 = HoL/2 8 - 360 350 >
(IRPBNKEAIS 2/22| —S‘ié*ELB/gu.: 24 3.60 3.30 3.65
(RPBNKEAFS /82| 2 52100834 34 360 330 345
(RPIKERE A, A3 e T s/ 3 360 320 345
(RPIBKEXHS /2|3 2 HELB/1E Sl 3.55 3.20 339
(T EER 19 375 343 335
(RPISKS /2|2 2 HELB/67H 2 Z;Hfj 420 358 340
(RP)SKE A/A2 S = HELE/1 A Hf 220 390 355
(RP)SKZ 2/2l2| 3= HELB/2H = 450 3.90 2%
(RP)SKE 2/ 8171 3 5 e 34 24 450 420 380
(RP)SHEH = X5 71/ 212 3 2 HELB/37H 2 i{l 4.50 4.20 410
(RP)SISIEXI S 8/92 3R RELB/1 4 34 363 420 410
(‘RP)?§*$KI%E/%EEEQELB/ZLE 14 379 353 410
(RP)SISIEA =3,/ 22 2 = 2EL/3 23 371 358 3.53
(RP)IIZI == 2,22 = = FELB/37 5 34 365 350 3.58
(RP)TI FEE YO FET =Ty hd 3.00 344 350
RPOIEES /A2 S ate eha 310 3.00 344
TCEEEEETEEE ST 14 355 3.10 3.00
(RP)H I EECr R 28 3,55 3.40 3.10
TCEEEEETEEE T 2 % 3.40 330
LR EEEE P == 378 340 335
(RPTIEI =52, 42| 22 HDLB/67NE EdF 300 340 345
(RPIOIEI: 5 /82| 32 Hole/ e Sl 310 3.00 350
(RP)H2IZS /S E|‘S‘E§DLB/2L: 1d 355 3.10 3.00
(RP)H2| =52/ a|gg§DLB/3Q 24 355 3.40 3.10
TCEEEEETEFE ST 3d 375 340 330
(RPR IS /8 S e 54 378 340 3.35
(RP)ROIEISR/R EECEDI i 3.80 340 345
URP)%%@':H*O” %/o|gggag£g§/:q 1? 380 3.60 3.50
(IRP)EEBIC) M %/Olgiégzgw; 14 345 3.60 3.60
URP)‘T"%@':H*O” %/°|§E%%‘E?§,/3L§ 2? 341 3.15 3.60
(RPEESAE,0 =8 =sl/ad 3d 337 3.11 2,98
(RPEESTH 45,08 a5 8ms],50 4d 31s 307 298
e TR 54 2, 3.00
NEEEEEERE z 315 85
(RP)ZHZE/0[225853,24 14 357 2.85 2.80
T EEE TR 24 310 3.31 2.80
EEEEECEE T 3d 3.10 3.00 331
(RP)ZHE5/0[8 58T E 5 4d 285 3.00 300
(RP)DBE2/0| 2258 2 8,/3d 54 285 285 3.00
(RP)DBZ2/0| 8258 28,50 3d 325 285 285
(RP)Z=A B 0| E R EEme]1d 54 315 315 285
(RPEEAE/ 0| g EE R g2 14 . 3.05 3.05
(RP)IEAE,/ 0|2 5HEs/30 24 : 350 295
(RP)ZEA /0| SEEaES,/5H 3d - 310 3.00
(RPSZMY/0|8EZHES /1 54 B 3.50 300
T EEEEEETRRT 14 - 340 310
(RP)EZB/0[ZE5HE /30 ig ; - :'35
(RP)SZMY/0| 2SS = 4 - 27
i Lok R T sd - - 310
. . 3.10
275
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